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W916-J336 8 A angol 20 20 40 40 100%
M476-P922 (8 A angol 8 18 40 26 65%
A223-E656 (8 A angol 11 15 40 26 65%
D543-N474 (8 A angol 17 16 40 33 82%
P684-W757|8 A angol 0 0 40 0 n.a.
0574-V321 |8 A angol 8 15 40 23 57%
M495-U991(8 A angol 18 18 40 36 90%
D993-G588 (8 A angol 15 16 40 31 77%
S675-V663 |8 A angol 17 19 40 36 90%
H289-S179 (8 A angol 12 14 40 26 65%
E738-Q558 |8 A angol 15 12 40 27 67%
A362-X460 (8 A angol 13 8 40 21 52%
0328-M452|8 A angol 19 14 40 33 82%
L457-V155 (8 A angol 12 11 40 23 57%
F873-M472 |8 A angol 9 6 40 15 37%
K499-C975 (8 A angol 18 19 40 37 92%
Q441-W823|8 A angol 15 19 40 34 85%
1395-B897 (8 A angol 20 19 40 39 97%
R437-H627 (8 A angol 19 20 40 39 97%
X393-D913 (8 A angol 10 10 40 20 50%
U335-G950 (8 A angol 20 19 40 39 97%
B462-V554 (8 A angol 12 15 40 27 67%
W893-1L530 (8 A angol 19 18 40 37 92%
K551-D854 (8 A angol 0 0 40 0 n.a.
Q799-V732 (8 A angol 20 20 40 40 100%




